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L Add and write an addition sentence for the following questions

Addition sentence

o

|

2 more than 6
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2+6=8

4 more than 9
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5 more than 2

e —

|

1

+
]

6 more than 7
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7 more than 9
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6 more than 12
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3 more than 19
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8 more than 16
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( Number bonds )

L We can have a same number in different ways J
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Adding zero
Lets have fun with adding zero

Adding doubles
Lets have fun with adding doubles
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Addition

L Add the number of dominoes and match with the J

correct answer
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Addition sentence
Read the addition sentence and choose the correct answer

4 more than 17 is

J

\

OO

6 more than 12 is

J

\

7 more than 15 is

J

\
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5 more than 12 is

J

\

DOC

7 more than 21 is

J

\
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9 more than 10 is

J

\

4 more than 25 is

J

\
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8 more than 22 is

J
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6 more than 8 is

J
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2 more than 14 is

J
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10 more than 30 is

J
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Addition by making 10

Add the following numbers by making 10

—

8+7= 8+2+5 6+5=| _ |58 __ |gp
\'/ }

= | = e[

4+9=| -::]:-[_ 9+3= __ '='|]='[_ 0P
/ /

5+8= -::}:-[_ 7+7=| '=|']='[_ 0P
/ /

2+9=| __ n:{]:[_ 3+9=| __ '=|']='[_ b
/ /




Vertical addition
Add the following numbers

w C

(<)}

T U T U
2 4 3 5
4 + 3

T U T U
4 4 5 0

4 + 6
T U T U
5 6 3 0
2 1 +2 0
T U T U
6 2 7 5
2 5 +1 3
T U T U
8 4 6 7
1 2 +1 O




1 Addition word problems ]

Read the statements and solve

Q )
Ali has 6 small balls
and 4 big balls. How
many balls does he

have in all?
C )

(=) )

There are 4 girls and

7 boys in a bus. How

many kids are there
altogether?

Q )
Sana has 3 pencils.
Her friend gave 6
more pencils. How
many pencils does
Sana have?

Q )
There are 9 apples in
a basket. 3 more are
added. How many
apples are there in a
basket now?
J




